Hw 1.2

terca-feira, 10 de setembro de 2024 15:09

36 - tawe
e ol alolion  of nge, UMW Mt sdidrone Hen ol,
WL aF WP C Prrssuee Ao He alrotun catws . ds
wnbyy Al are wotMin, al a Vacern where Patme <4 3ere

Zre  almosrphesce prencees @l  altays bo Aighet Than | Jricge  prrtirs

3.7 - F oty
Zre atmedrphuric prwerc ot ma Lvl Ay 197 psia. , bult we Yave dffereriC
livalions amd T higher P  livolion , T  Lowee e prspac g
ho il puvmpe ot T Fop o Murst EvadT iy anowdl 9.59 psio.  atch

5~8/ - Fa/se
“ILé(/ Volusty— % abyole s JPusete Caryt be /76‘90/32'(/6/

BQ - "'r‘u@

if the prevauae - measomdl i a atmorplerc Prevurne at  Sea

level we carr  catadate  absolvte pruwne gy

Pabs = = - 4.65 + 14.7

P3a¢/3c + PmLW
Pabs = /0. 05

Paps 79 , So dhe, Stotment 15 true  omd comv be ol

3/0 — Fatr
Similer oy A Awmome obove, we calodoki

;Dobs:_ Pyaye ~+ Va% = — /7?5 t 10l. 32

Sinvce Pob5 /S ﬁfim@‘ms st hat 44/ hot

W’é& /)»woce/ 1z aﬂk«/&% hae ke be ;><9%¥7'V6

Pehrr G2 , o Zhe Olerizes o /’G’A/)e?‘ /De/m'é&_

oL fale
3] ﬂa
KLU AP = My
100¢
P' = 1473 psi
j /Y\o\ir = 0Q.0364 lb/}\_ﬁB

AP = o 0764 b, 70004 = S34. g 1h
Ft*

[L,Z, in, '|{\)Z

i
AP = Saq_x_);yé_i<ﬁ L) - 37138 )b = 39138 py

P, —P, = AP
P, = AP +P, — 4.9 = 27135 4+,

]

TD&: IO .9%¢6ca PS\/l/

?alm/ = 4.7 psi .
W=
3 - |3 7 50 P(a_yu =@
Pabs = Potmy "'M
Pabs = Petmn

pjagc = Pabs —Pa‘l'w\/

sivee  Pabs amd  Pabm aw e same
haw \%\(’,3' will comcel, it out omd  will
maKe e Pgo@& be @

?70:3@ n O "&’mcc en% pressufe at
Yre 'YW\/*GCC wy K ATm pmb



